1.  How long (in milliseconds, ms) is the length of the electrical pulse 

needed to make a servomotor run clockwise at full speed one time?                 _____________  ms
2.   What PULSOUT value would you use to make it turn clockwise? 
          _____________

3.  How long (in milliseconds, ms) is the length of the pulse needed

to make a servomotor run counterclockwise at full speed one time?                  _____________  ms

4.   What PULSOUT value would you use to make it turn counterclockwise?   _____________

5.  How long is a PAUSE 50 pause command?



          _____________  ms
6.  How long does it take the BOE’s stamp (microprocessor) to execute
 (run) a program loop one time? This is called “program code overhead”        _____________  ms and it is an approximate value. 








7.  How long will it take the BOE to execute one loop (#1-6 above?)                  _____________  ms












 Loop time
8.  If you ran the loop 100 times, how long would the servomotors run for?   _____________  ms

      Show the calculations for your answer here:

Let’s say that you want to program two servomotors to run full speed in opposite directions for 54 seconds. Write a simple program on the back to show how you would do this. Show the calculations for your “ FOR counter = “ below. 
Download your program and test it. 
COUNTER # of pulses (P) = time in sec (T)   ;   P = _T_
                                                  loop time (L)
                L
' {$STAMP BS2e}

' {$PBASIC 2.5}

How long did the servomotors run? ________\___ sec.  What is the COUNTER value? ____________ 
Calculate how far off the “code overhead” value is and recalculate the COUNTER value.
What is the new COUNTER value? _____________
Change the COUNTER value to make your program run for exactly 1 minute, 14 seconds.
